Subject: Re: Brant test
Posted by Bridgette-DHS on Fri, 23 Jan 2015 17:37:45 GMT

View Forum Message <> Reply to Message

Following is a response from Senior DHS Stata Specialist, Tom Pullum
This is a Stata question and is not specific to DHS data, but | will offer a brief response.

It is not unusual to get a message to the effect that some part of svyset cannot be implemented. |
suggest that you repeat svyset with fewer components (in this case, without the pweight
component), and repeat the model, until you get a result, in this case the brant test. You then
insert a statement in your write-up saying that you had to do this.

An argument can be made that tests should be unweighted anyway. Also, DHS surveys do not
usually have enormous variation in the weights, and you will usually reach the same conclusion
about significance or non-significance whether or not you use the weights.

| won't be surprised if this specific limitation is removed in some future version of Stata.

Page 1 of 1 ---- Generated from The DHS Program User Forum


https://userforum.dhsprogram.com/index.php?t=usrinfo&id=11
https://userforum.dhsprogram.com/index.php?t=rview&th=1831&goto=3663#msg_3663
https://userforum.dhsprogram.com/index.php?t=post&reply_to=3663
https://userforum.dhsprogram.com/index.php

